207 7th Ave PO Box 436

Wellman, IA. 52356

Phone: 319-646-8860 Fax: 319-646-8860

YOUR FULL SERVICE CENTER

INVOICE 22561

Org. Est. # 035020

INVOICE

PSI Precision Structures Inc. - Chris Harmsen

PO Box 29

Wellman, IA 52356

Office: 319-646-2430 Cellular: 319-530-2718 Chris

Print Date: 09/14/2015

2001 Ford - Cab & Chassis F350 Super Duty - 7.3L, V8 (444

Odometer In: 220734

Lic#: 40 - IA

Part Description / Number	Qty	Sale	Ext	Labor Description	Extended
OIL	16.00	3.12	49.92	?	0.00
15w40				**** Symptoms: ****	
OIL FILTER	1.00	26.15	26.15	CHECK NO START SERVICED VEHICLE	32.63
Fuel Tank	1.00	1,046.221	1 046 22	-	32.03
F84A	1.00	1,040.22	1,040.22	FUEL TANK - Remove & Replace - Rear, Mount -	195.75
FUEL SENDING UNIT XC3Z9275AC	1.00	595.07	595.07	[Includes: Drain and refill.] replaced fuel lifter assembly	
FUEL LIFTER ASSEMBLY F81Z9C407AC	1.00	622.03	622.03		
Fuel Filter (Gold) 3818	1.00	55.31	55.31		
Air Filter (Gold)	1.00	49.58	49.58		
6728 Shop Supplies			39.73		
1			08.10		
9 9					
•					
			ļ		
Org. Estimate 2,902.26 Revisions 0.00	Cui	rrent Estima	ate 2,90	2.26 Labor:	228.38
				Parts:	2,484.01
				Sub:	2,712.39

Org. Estimate	2,902.26	Revisions	0.00	Current Estimate	2,902.26	Labor:	228.38
						Parts:	2,484.01
						Sub:	2,712.39
g						Тах:	189.87
						Total:	2,902.26
[Payments -]						Bal Due:	\$2,902.26

hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair.

				- · · · · p · · · · · ·
Signature		Date	Time	
Written By: Slaubaugh, Scott - Technicians : Please Select, Technician, Staley, Lawre	Page 1 of 1	Con-1-1-1-1-2046	The state of the s	

207 7th Ave PO Box 436

Wellman, IA. 52356

Phone: 319-646-8860 Fax: 319-646-8860

YOUR FULL SERVICE CENTER

INVOICE

22855

Org. Est. # 035297

	V	V	0	CHESTO .	C	E
--	---	---	---	----------	---	---

PSI Precision Structures Inc. - Chris Harmsen

PO Box 29 Wellman, IA 52356

Office: 319-646-2430 Callular: 310-530-2719 Chris

Total:

1,148.45

Print Date: 10/05/2015

2001 Ford - Cab & Chassis F350 Super Duty - 7.3L, V8 (444 Lic#: 40 - IA

Odometer In: 221054

38Part Description / Number	City	Sale	Ext	Labor Description	Extended
Brake Rotor Only - Rear - Premium - 4886824	2.00	76.67	153.34	REPLACED RIGHT REAR AXLE SEAL AND HAD TO INSTALL AXLE SLEEVE BECAUSE THE AXLE HAD	358.88
Brake Caliper w/ Hardware - Right Rear (Eclipse Semi-Loaded) - Remfd SE5303A	1.00	111.10	111.10	BEEN FIXED PREVIOUSLY; REPLACED REAR PADS AND ROTORS AND RIGHT REAR CALIPER; FIXED MARKER LAMPS AND TAIL LIGHTS	
Brake Pads - Rear, Ultra Premium - OE Semi-Metallic <i>UP</i> 7626M	1.00	95.13	95.13		
REAR AXLE SEALS BRS179	2.00	21.56	43.12		
RIGHT REAR AXLE SLEEVES 99287	2.00	58.16	116.32		
MARKER LAMPS 6050	2.00	24.32	48.64		
LED TAIL LIGHTS 6060C	2.00	53.53	107.06		
Shop Supplies			39.73		
Org. Estimate 1 148.45 Revisions 0 00	Curi	ent Estima	<u>ا</u> ste 1,14	8.45 Labor:	358.88
		***************************************	manufacture of the forest of t	Parts:	714.44
				Sub:	1,073.32
				Tax:	75.13

[Fayments -] Bal Due: \$1,148,45 Thereby authorize the above repair work to be stone along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described street, highways or essewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12 000 miles whichever comes first. Warranty work has to be performed in our short & cannot exceed the original cost of repair.

Signature		Date	Time
Written By: Slaubaugh, Scott - Technicians - Please Select, Technician; Stalley, Lawre	Page 1 of 1	Copyright (c) 2015 Mi chell Repair	Information Company, LLC Invhrs 08.21.14JD

207 7th Ave PO Box 436

Wellman, IA. 52356

Phone: 319-646-8860 Fax: 319-646-8860

YOUR FULL SERVICE CENTER

INVOICE

23332

Org. Est. # 035434

INVOICE

PSi Precision Structures Inc. - Chris Harmsen

PO Box 29

Wellman, IA 52356

Cust ID: 6

Office: 319-646-2430 Cellular: 319-530-2718 Chris

Print Date: 12/03/2015

2001 Ford - Cab & Chassis F350 Super Duty - 7.3L, V8 (444 Lic#: 40 - IA

Odometer In: 222116

VIN#: 1FDWX37F3 1ED61014

Part Description / Number	Qty	Sale	Ext	Labor Description	Extended
FAN CLUTCH AU2Z8A616L	1.00	353.07	353.07	ORDER; FAN CLUTCH; SWAY BAR BUSHINGS AND ACCELERATOR PEDAL	LINKS;
SWAY BAR BUSHINGS	2.00	20.32	40.64	FAN CLUTCH - Remove & Replace - Diesel,7.3L Eng	64.60
2C3Z5484AA	2.00	20.02	40.04	STABILIZER BAR CONTROL LINK - Remove & Replace	65 .25
SWAY 8 AR LINK 1C2Z5K483BB	1.00	113.35	113.35	- Both REPLACED BATTERIES	
SWAY BAR LINK	1.00	117.52	117 52	ADJUSTABLE ACCELERATOR PEDAL ASSEMBLY - Remove & Replace - F350 Super Duty	32.63
1C3Z5K483BA				REPLACED INJECTORS	352.35
MAP SENSOR F8UZ9F479BA	1.00	130.16	130.16	-	
RAILER PLUG IN FOR ENCLOSED RAILER-ONE OF THE GUYS STOPPED N ON 11-2-15 755-1760	1.00	25.32	25.32		
atlery 7565	1.00	110.28	110.28		
RACKET FOR ACCEL PEDAL 5c3z9c803aa	1.00	50.61	50.61		
CCELERATOR PEDAL EC3Z9F836A	1.00	265.23	265.23		
NUECTORS 5C3Z9VE527BRM 5C3Z9VE527ARM	8.00	379.673	3,037.36		
BB Industries / New Starter N6669	1.00	255.98	255.98		
BATTERY <i>8465</i>	1.00	102.09	102.09		
'alve Cover Gasket w/ Harness 6003500	1.00	116.16	116.16		
NL	16.00	3.12	49.92		
15V/40					
NL FILTER	1.00	26.15	26.15		
Shop Supplies			39.73		
			İ		

PSI Precision Structures Inc. - Chris Harmsen

PO Box 29

Wellman, IA 52356

Office: 319-646-2430 Cellular: 319-530-2718 Chris

Cust ID: 6

2001 Ford - Cab & Chassis F350 Super Duty - 7.3L, V8 (444

Lic#: 40 - IA

Odometer In: 222116

VIN#: 1FDWX37F3 1ED61014

Part Description / Number	Qty	Sale	Ext	Labor Description	Extended

org. Estimate	1,306.27	Revisions	3,976.03	Current Estimate	5,282.30	Labor:	514.83
					30, Parts: \$265.23 Labor. \$0.00 Sublet: \$0.00 Taxes & Fees: \$413000 ber - Cellular: 319-530-2718xChris	Parts:	4,833.57
					.47, Parts; \$3037.36 Labor: \$352.35 Sublet: \$0.00 Taxes & Fees: Phone Number - Cellular: 319-530-2718xChris	Committee and Committee	
						Sub:	5,348.40
						Tax:	374.39
						Total:	5.722.79
Payments - 1						Bal Due:	\$5,722.79

nereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described of street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair.

Signature		Date	Time
Trittan By: Slaubaugh, Scott - Technicians : Please Select, Technician; Staley, Lawre	Page 2 of 2	Copyright (c) 2015 Mitcheil Repa	iir Information Company, LLC invhrs 08.21.14JD

207 7th Ave PO Box 436 Wellman, IA. 52356

Phone: 319-646-8860 Fax: 319-646-8860

YOUR FULL SERVICE CENTER

INVOICE

25065

Org. Est. # 037509

INVOICE

Vehicle Received: 09/12/2016

Invoice Date: 09/12/2016

PSI Precision Structures Inc. - Chris Harmsen

2001 Ford - Cab & Chassis F350 Super Duty - 7.3L, V8 (444

PO Box 29

Odometer In: 230067

Wellman, IA 52356

Office: 319-646-2430 Cellular: 319-530-2718 Chris

VIN#: 1FDWX37F3 1ED61014

Lic#: 40 - IA

Cust ID: 6 Part Description / Number	Qty	Sale	Ext	Labor Description	Extended
				RADIATOR - Remove & Replace - Diesel,7.3L Eng	208.80
Radiator	1.00	250.47	250.47		
2768				REPLACED WATER PUMP AND TEMPATURE SEN	IDING UNII
Hose - Radiator Upper	1.00	23.11	23.11		
9175					
Water Pump - New 43546	1.00	190.32	190.32		
TOWING FROM WASHINGTON; (MOORES BP) TOWING	1.00	225.00	225.00		
Coolant Temp Sensor F65Z10884AA	1.00	84.50	84.50		
Water Outlet / Engine Coolant Water Outlet 85190	1.00	43.86	43.86		
Shop Supplies			39.73		

Org. Estimate	1,140.40	Revisions	0.00	Current Estimate	1,140.40	Labor:	208.80
						Parts:	856.99

						SubTotal:	1,065.79
						Tax:	74.61
						Total:	1,140.40
[Payments -]						Bal Due:	\$1,140.40

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described c street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repairs.

Signature	Date	Time

207 7th Ave PO Box 436

Wellman, IA. 52356

Phone: 319-646-8860 Fax: 319-646-8860

YOUR FULL SERVICE CENTER

INVOICE

25260

Org. Est. # 037713

INVOICE

Vehicle Received: 10/13/2016

Invoice Date: 10/13/2016

PSI Precision Structures Inc. - Chris Harmsen

Lic#: 40 - IA

2001 Ford - Cab & Chassis F350 Super Duty - 7.3L, V8 (444 Odometer In: 231696

PO Box 29

Wellman, IA 52356

Office: 319-646-2430 Cellular: 319-530-2718 Chris

VIN #: 1FDWX37F3 1ED61014

Cust ID: 6

Part Description / Number	Qty	Sale	Ext	Labor Description	Extended
Shock - Gas Grande Fleet - Front	2.00	82.04	164.08	-	n/c
76686				**** Symptoms: ****	
DYNA PRO HANKOOK HT RH12 Size: 235/85R16 235/85r16	2.00	141.74	283.48	front end wobble MOUNT AND BALANCE	30.00
VALVE STEMS	2.00	2.35	4.70	- RIGHT FRONT AXLE UJOINT - Remove & Install or	195.75
-				Remove & Replace - One Side - [DOES NOT include	190.70
TIRE DISPOSAL FEE	2.00	2.00	4.00	alignment.] REPLACED RIGHT FRONT HUB LOCKOUT	
Axle Shaft Seal - Outer - Front Axle	1.00	90.52	90.52	(Combination) - UNIVERSAL JOINT - Remove & Replace Each	28.71
28603 U-Joint - Front Axle Shaft - Right Outer <i>UJ374</i>	1.00	57.33	57.33	TANK	32.63 F
LEFT FRONT HUB/LOCKOUT 1C3Z3B396CB	1.00	315.25	315.25	LABOR TO PERFORM 7.5K SERVICE ALIGNMENT	40.00
PREMIUM OIL FILTER 84312	1.00	26.15	26.15	-	
15W40 CHEVRON ENGINE OIL 15W40	16.00	3.15	50.40		
Air Filter (Gold) 6728	1.00	34.27	34.27		
Shop Supplies			39.73		

Org. Estimate	1,494.79	Revisions	0.00	Current Estimate	1,494.79	Labor:	327.09
						Parts:	1,069.91
						SubTotal:	1,397.00
						Tax:	97.79
						Total:	1,494.79
[Payments -]						Bal Due:	\$1,494.79

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described c street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair

Signature		 Date	Time
	 .		

207 7th Ave PO Box 436

Wellman, IA. 52356

Phone: 319-646-8860 Fax: 319-646-8860

YOUR FULL SERVICE CENTER

INVOICE 25817 Ora I st # d ...

INVOICE

Vehicle Received: 01/19/2017

Invoice Date 01/19/20

PSI Precision Structures Inc. - Chris Harmsen

PO Box 29

Wellman IA 52356

Office 319 646 2430 Cellular 319-530-2718 Chris

2001 Ford - Cab & Chassis F350 Super Duty 7.31, Man

Lic#: 40 - IA

Odometer In 🦙 😘

233648

VIN #: 1FDWX37F3 1ED61014

Part Description / Number	Qty	Sale	Ext	Labor Description Extends
CASKET OILLEAK	1 00	20 46	20.46	
F1776A636A				CHECK FOR OTHER FLUID LEAKS **** Symptoms: ****
A RITORILAK	1 00	30.88	30,88	- Gympions.
FFTZ6A836AAA				NEED TO DO D.O.T. INSPECTION!!
ANTE OF LEAK	2.00	5.58	11.16	D.O.T. INSPECTED
103 Z6C610 BA				REPLACED MARKER LIGHT; ADJUSTED PARKING BRASE
DRING OILLEAK	2.00	12.66	25.32	CABLES
1C3Z6K649BA				NEEDS LEFT SIDE EXHAUST MANIFOLD AND GASKET AND
VALVE ASSEMBLY	1.00	63.26	63.26	BOLTS AND BOLTS FROM THE MANIFOLD TO THE PIPE coolant leak
F81Z9A153AA				
Heater Hose Connector - Universal	1 00	6.31	6.31	replaced heater hose T
6601673				fuel leak
Oil Filter (Gold)	1.00	25.96	25.96	replaced fuel filter housing drain
1734				ENGINE OIL COOLER - Remove & Replace - Diesel
LE ARANCE LIGHT	1.00	6.08	6.08	replaced the gaskets for the oil cooler
1211AD				EXHAUST MANIFOLD - Remove & Replace - Diesel, 7 3L
OIL	3 00	3.12	9.36	Eng Left
15w40				had to replace broken bolts to replace the exhaust manifold
COOLANT	5.00	10.00	50.00	
*1				
Brake Hose - Right Front	1.00	39.37	39.37	
381187				
LEFT EXHAUST MANIFOLD	1.00	284.32	284.32	
+81Z9431AA				
XHAUSTMANIFOLD BOLIS	8.00	3.83	30.64	
F-JTZ9S425A				
NUTS AND BOLTS	4.00	6.00	24.00	
W300013&W300050			-	
Shop Supplies			39.73	

207 7th Ave PO Box 436 Weliman, IA. 52356

Phone: 319-646-8860 Fax: 319-646-8860 YOUR FULL SERVICE CENTER

	INVOICE
	25817
Ora	FSI #10 (.III)

77.	À	8	1 2	0	ŝ	g =====	5000
ŝ	1	Ž	2.0	أرك	1	Ž.,	ž.,

Vehicle Received: 01/19/2017

Invoice Date 01/19/20 |

PSI Precision Structures Inc. - Chris Harmsen

2001 Ford - Cab & Chassis F350 Super Duty / 3L VIVID

PO Box 29

Lic #: 40 - IA

Odometer in

Wellman IA 52356

Office 319-646-2430 Cellular 319-530-2718 Chris

VIN # : 1FDWX37F3 1ED61014

Cust ID: 6

Part Description / Number

Qty Sale **Ext Labor Description**

Extended

org Estimate 1,421.48 Revisions 0.00	Current Estimate 1,421.48	Labor: Parts:	666 8 ·
		SubTotal:	1,328 49
Payments - 1		Tax: Total: Bal Due:	1,421.40 \$1,421.40

in rely authorize the above in pure seak to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or fruct herein the seasons. Street individuals or discovered and the property of the prope

Signature			a constitution of the second s	WARRY STR. TO SHA PROVINCE THE STREET	Date	Time	
The its Stade and worth for many	i ·	12000	Fr Innulan Lara Cody	Page 2 of 2	Copyright (c)	2017 Mitchell Repair Information Constant in	

207 7th Ave PO Box 436

Wellman, IA. 52356

Phone: 319-646-8860 Fax: 319-646-8860

YOUR FULL SERVICE CENTER

INVOICE

26556

Org. Est. # 039086

Date: 07/13/2017

INVOICE

PO BOX 29

2001 Ford - Cab & Chassis F350 Super Duty - 7.3L, V8 (444Cl)

10 1 1 Old - Cab & Chassis 1 300 Super Duty - 1.5E, VO (444CI)

Lic #:40 - IA

Odometer In: 236869

Wellman, IA 52356

Office: 319-646-2430 Cellular: 319-530-2718 Chris

PSI PRECISION STRUCTURES INC - CHRIS HARMSEN #6

VIN#:1FDWX37F3 1ED61014

Part Description / Number	Qty	Sale	Ext	Labor Description	Ex
Towing Mileage	52.00	4.00	208.00	Hook up	75.00
BACK PRESSURE SENSOR 4C3Z9J460A	1.00	113.68	113.68	REPLACED FUEL FILTER	65.25
BATTERIES 65CP	2.00	130.32	260.64	Diagnose No Start/Hard Start Symptoms: Engines Crank OK but either is hard to start or w start	65.25 ill not
Air Filter (Gold) 6728	1.00	35.00	35.00		15.00
Fuel Filter (Gold) 3818	1.00	50.37	50.37	REPLACE ENGINE OIL AND FILTER, PERFORM COURTESY CHECKS AND FILL WINDSHEILD WASHER	32.63
PREMIUM OIL FILTER 84312	1.00	26.15	26.15	TANK LABOR TO PERFORM 7.5K SERVICE	
15W40 CHEVRON ENGINE OIL 15W40	16.00	3.15	50.40	BATTERY - Remove & Replace - Both - [Includes: Test.]	52.20
Shop Supplies			39.73		

Org. Estimate	357.11	Revisions	0.00	Current Estimate	357.11	Labor:	305.33
						Parts:	783.97
						St. American	
						AND	
						SubTotal:	1,089.30
						Tax:	76.25
						Total:	1,165.55
[Payments -]						Bal Due:	\$1,165.55

Vehicle Received: 6/24/2017

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair.

Signature	Date	Time

207 7th Ave PO Box 436

Wellman, IA. 52356

Phone: 319-646-8860 Fax: 319-646-8860

YOUR FULL SERVICE CENTER

INVOICE 26994

INVOICE

Date: 09/15/2017

PSI PRECISION STRUCTURES INC - CHRIS HARMSEN #6

PO BOX 29

Lic #:40 - IA

2001 Ford - Cab & Chassis F350 Super Duty - 7.3L, V8 (444CI)

Odometer In: 239076

Wellman, IA 52356

Office: 319-646-2430 Cellular: 319-530-2718 Chris

VIN#:1FDWX37F3 1ED61014

Part Description / Number	Qty	Sale	Ext	Labor Description	Ex
STEERING GEAR STG60RM	1.00	365.32	365.32	TOWED FROM CASEYS	25.00
P/S HOSE / Power Steering Pressure Line Hose Assembly 80241 Shop Supplies	1.00	39.29	39.29 39.73	STEERING GEAR - Remove, Install, and Overhaul - All Applicable Models - [Includes: Adjust toe-in on Rack and Pinion type Steering Gears. NOTE: Deduct .4 if alignment is also performed.]	215.33

Org. Estimate	732.60	Revisions	0.00	Current Estimate	732.60	Labor:	240.33
						Parts:	444.34
						and the state of t	
						SubTotal:	684.67
						Tax:	47.93
						Total:	732.60
[Payments -]				,		Bal Due:	\$732.60

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair.

Signature Date	teTime_	
----------------	---------	--

207 7th Ave PO Box 436

Wellman, IA. 52356

Phone: 319-646-8860 Fax: 319-646-8860

YOUR FULL SERVICE CENTER

INVOICE

27836

INVOICE

Date: 03/08/2018

PSI PRECISION	STRUCTURES	INC - C	HRIS	HARMSEN
DO DOY OO				

PO BOX 29

Wellman, IA 52356

Office 319-646-2430 -- Cellular 319-530-2718 Chris

2001 Ford - Cab & Chassis F350 Super Duty - 7.3L, V8 (444CI) Lic #: 40 Odometer In: 242238

VIN# : 1FDW/X37F3 1FD61014

			-	VIN#. 17DVVA3773 7ED61014	
Part Description / Number	Qty	Sale	Ext	Labor Description	Ext
PREMIUM OIL FILTER 1734mp	1.00	26.15	26.15	DOT INSPECTION Fluid Capacity:	32.63
Oil Filter - NAPA Gold 1734	0.00	20.75	n/c	Engine Oil - Volume: 17.00 QTS. (16.1L) - SAE 15W-40 (10W-30 Super Duty; Diesel - w/Filter - (Note: Use oil that certified by the American Petroleum Institute.)	Super Duty, has been
15W40 CHEVRON ENGINE OIL 15W40	17.00	3.15	53.55		32.63
Air Filter - NAPA Gold 6728	1.00	36.76	36.76	10/00/15 TO TO 11/	
Ball Joint	1.00	85.84	85.84	TOE-IN - Adjustment - All Applicable Models	43.07
K80026				BALL JOINT - Remove & Replace - 4WD One	193.79
Ball Joint	1.00	123.34	123.34	Side,Both - [DOES NOT include alignment.]	
K8607T				TIE ROD &/OR ENDS - Remove & Replace - Each Additional - [Includes: Adjust toe-in only. NOTE: Deduct	21.53
Tie Rod	1.00	102.90	102.90	.4 if alignment is also performed.	
ES3427T				NOTE: Manufacturer recommends removal of Rack and	
LAMP 60202R1	1.00	14.17	14.17	Pinion Steering Gear when replacing Inner Tie Rod End(s) on some mode	
Shop Supplies			39.73		
			1		

- Louiniate	VV4.12	1/64/3/0/13	0.00	Current Estimate	032.12	Labor:
						Parts:

482.44 SubTotal: 806.09 Tax: 56,43 Total: 862.52 Bal Due: \$862.52

[Payments -]

Vehicle Received: 3/8/2018

Ora Estimate 632.12

Customer Number: 6

323.65

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair.

Signature

Date

Dovisiona

0.00

207 7th Ave PO Box 436

Wellman, IA. 52356

Phone: 319-646-8860 Fax: 319-646-8860

YOUR FULL SERVICE CENTER

INVOICE

28539

INVOICE

Work Completed:

08/16/2018

Date: 08/16/2018

PSI PRECISION STRUCTURES INC - CHRIS HARMSEN PO BOX 29

Wellman, IA 52356

Lic#:40

2001 Ford - Cab & Chassis F350 Super Duty - 7.3L, V8 (444Cl) Odometer In: 247414

Office 319-646-2430 Cellular	319-530-	-2718 Chris		VIN#: 1FDWX37F3 1ED61014	
Part Description / Number	Qty	Sale	Ext	Labor Description	Ext
PREMIUM OIL FILTER	1.00	26.15	26.15	CHECK BRAKES GRINDING	n/c
1734mp 15W40 CHEVRON ENGINE OIL 15W40	17.00	3.15	53.55	Engine Oil - Volume: 17.00 QTS. (16.1L) - SAE 15W-40 S	n/c Super Duty, has been
Air Filter - NAPA Gold 6728	1.00	39.03	39.03	certified by the American Petroleum Institute.)	
Brake Pads - Rear - Fleet FT7626	1.00	80.52	80.52	REPLACE ENGINE OIL AND FILTER, PERFORM COURTESY CHECKS AND FILL WINDSHEILD WASHER TANK	32.63
Brake Rotor (Rotor Only) - Rear - Premium 4886824	2.00	64.62	129.24	PADS & DISC ROTOR - Remove & Replace -	236.86
Brake Caliper with Hardware - Rear Left - (Eclipse Semi-Loaded) - Remanufactured SE5304A	1.00	85.34	85,34	Rear,Both,Full Floating Axle,Inboard Mounted Rotor,Seperable,w/Dual Rear Wheels - [Includes: Repack Wheel Bearings (where applicable) and replace Pads (if necessary). DOES NOT include refinishing.]	
Brake Pads - Front - Fleet FT7625	1.00	93.26	93.26	CALIPER - Remove & Replace - Rear,One Side - [Includes: Bleed System and replace Pads (if necessary).]	71.78
Brake Rotor (Rotor Only) - Front - Premium 4886914	2.00	64.09	128.18	PADS & DISC ROTOR - Remove & Replace - 4WD Front, Both - [Includes: Repack Wheel Bearings (where applicable) and replace Pads (if necessary).	143.55
Brake Caliper Bracket - Front Left - Remanufactured N141580	1.00	37.60	37.60		129.20
PARKING BRAKE CABLE RR YC3Z2A635CA	1.00	136.08	136.08	PARKING BRAKE SHOE & LINING - Remove & Replace - Rear, Both Sides, Full Floating Axle, Inboard	65.25
PARKING BRAKE CABLE LR YC3Z2A635FA	1.00	133.89	133.89	Mounted Rotor w/Dual Rear Wheels - [Includes: Repack Wheel Bearings.]	
Brake Backing Plate - Rear - Disc Brakes 8272435	1.00	163.00	163.00	ADJUSTABLE ACCELERATOR PEDAL ASSEMBLY - Remove & Replace - F350 Super Duty	35.89
Parking Brake Shoes - Fleet FT10771PB	1.00	119.12	119.12		
arking Brake Shoe Hardware Kit 3034	1.00	27.29	27.29		
REAR AXLE SEALS 27SS3307	2.00	13.03	26.06		
CC PEDAL EC3Z9F836A	1.00	305.80	305.80		
CC PEDAL BRACKET 5C3Z9C803AA	1.00	64.85	64.85		

[Recommendations]

RR spindle has been replaced (welded on) at some point. It was put on with the measurements wrong and now the rotor sits out too far causing the caliper mount to need spacers to clear the rotor. Is all working fine at this time. cl

Our Email Address:

sschneider243@hotmail.com

207 7th Ave PO Box 436

Wellman, IA. 52356

Phone: 319-646-8860 Fax: 319-646-8860

YOUR FULL SERVICE CENTER

INVOICE

28539

INVOICE

Work Completed:

08/16/2018

Date: 08/16/2018

PSI PRECISION STRUCTURES INC - CHRIS HARMSEN PO BOX 29

Lic #: 40

2001 Ford - Cab & Chassis F350 Super Duty - 7.3L, V8 (444CI) Odometer In: 247414

Wellman, IA 52356

Office 319-646-2430 -- Cellular 319-530-2718 Chris

VIN#: 1FDWX37F3 1ED61014

Part Description / Number

Qty

Sale

Labor Description

Ext

Logged by Marcus
on 8/23/2018

Org. Estimate 129.81

Vehicle Received: 8/16/2018

Revisions

678.33

Current Estimate 808.14

Revision # 1, Previous Estimate Amount: 129 81, Additional Cost 678.33, Revised Estimate 808.14, Parts: \$594.22 Labor \$0.00 Sublet \$0.00 Taxes & Fees: \$84.11 Aufhorized by - HARMSEN, CHRIS. Date - 8/2/2018, Time - 8:32 AM, Initiated By - Shop, Written By - Lana, Cody, Phone Number - Office: 319-348-2430

715.16

1,648.96

SubTotal: Tax:

Labor:

Parts:

2,364.12 165.49

Total:

2,529.61 \$2,529.61

Bal Due: Customer Number: 6

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the original cost of repair.

Signature

[Payments -]

Date

Our Email Address:

sschneider243@hotmail.com

207 7th Ave PO Box 436

Wellman, IA. 52356

Phone: 319-646-8860 Fax: 319-646-8860

YOUR FULL SERVICE CENTER

INVOICE

29597

Org. Est. # 042191

INVOICE

PO BOX 29

Date: 03/22/2019 2001 Ford - Cab & Chassis F350 Super Duty - 7.3L, V8 (444Cl)

Lic #: 40

Odometer In: 250116

Wellman, IA 52356

Office 319-646-2430 -- Cellular 319-530-2718 Chris

PSI PRECISION STRUCTURES INC - CHRIS HARMSEN

VINI 4 . ACDUANOZEO AEDALA.

Celiulai	319-030-	27 18 Chris		VIN#: 1FDWX37F3 1ED61014	
Part Description / Number	Qty	Sale	Ext	Labor Description	Ext
TOW - FROM AINSWORTH TO WELLMAN	1.00	380.00	380.00	STORING STAIN	65.25
TOW				DOT INSPECTION	32.63
Battery - NAPA Legend Professional	2.00	137.95	275.90		52.20
7565 Fuel Injection Control Pressure Sensor Connector	1.00	29.33	29.33	Huld Capacity:	35.89
EC89 FUEL INJECTION CONTROL PRESSURE SENSOR	1.00	222.03	222.03	and the field in t	Duty, peen
SHOTT				REPLACE ENGINE OIL AND FILTER, PERFORM	32.63
FIX WINDSHIELD CHIP/CRACK SAFELIGHT	1.00	78.44	78.44	COURTESY CHECKS AND FILL WINDSHEILD WASHER TANK LABOR TO PERFORM 7.5K SERVICE	
Wiper Blade - Exact Fit - Front 60201	2.00	9.99	19.98	OIL LEAK AT LEFT VALVE COVER AREA. MINOR SEEPAGE AROUND REAR PINION NUT	
PREMIUM OIL FILTER 1734mp	1.00	29.01	29.01		
15W40 CHEVRON ENGINE OIL 15W40	17.00	4.04	68.68		
			1		

Logged by Marcus

[Recommendations]

RR spindle has been replaced (welded on) at some point. It was put on with the measurements wrong and now the rotor sits out too far causing the caliper mount to need spacers to clear the rotor. Is all working fine at this time. cl

O F-4:	4 44 = 44	_				
Org. Estimate	1,415.92	Revisions	0.00	Current Estimate	1 415 02	
- harden	-				1,410.02	

Labor: 218.60 Parts: 1,103.37

SubTotal: Tax:

1,321.97 92.54 1,414.51

Total: Bal Due:

\$1,414.51

Customer Number: 6

I hereby authorize the above repair work to be done along with the necessary material and hereby grant you and/or your employees permission to operate the car or truck herein described on street, highways or elsewhere for the purpose to testing and/or inspection. An express mechanic's lien is hereby acknowledged on above car or truck to secure the amount of repairs thereto. Warranty on parts and labor is one years or 12,000 miles whichever comes first. Warranty work has to be performed in our shop & cannot exceed the

Signature

[Payments -]

Vehicle Received: 3/20/2019

Date